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YEAR 

LEVEL 

SCHOOL 

SUBJECT 

TERM 

BOOKLET A 

Q1 2 

QG 4 

Q11 2 

Q16 2 

Q21 3 

Q26 3 

BOOKLET B 

Q29 a) 

b) 

Q30 a) 

b) 

c) 

Q31 a) 

b) 

c) 

d) 

Q32 a) 

b) 

c) 

d) 

Q33 a) 

ANSWER KEY 

: 2021 

: PRIMARY 5 

: CATHOLIC HIGH SCHOOL 

: SCIENCE 

: END OF YEAR EXAMJNATION 

Q2 4 Q3 4 Q4 

Q7 2 Q8 2 Q9 

Q12 3 Q13 4 Q14 

Q17 2 Q18 2 Q19 

Q22 2 Q23 3 Q24 

Q27 4 Q28 1 

1 QS 1 

3 Q10 3 

1 Q15 2 

2 Q20 1 

3 Q25 3 

Some eggs may die, thus laying many eggs ensure that some 

eggs may hatch and grow into adults 

Butterflies 

Warmth, water and oxygen 

W, leaves will start to grow causing it to increase its mass. 

It gets its food from the sunlight, which take in carbon 

dioxide to make food. 

C, as the other body parts of the body used up the oxygen 

will its going to the heart to pump new bloods for the lungs 

to collect more oxygen the repeat the process. 

Waterel 

Waste materialsel 

The blood in a human goes from the heart to the lungs, back 

to the to the heart before going to the other parts of the gills 

to the other parts of the body. 

The-blood in B·of diagram one has more oxygen and less 

carbon dioxide and higher in carbon dioxide. 

Oxygen 

The shorter the distance between the lamp and the water 

plant, the higher the rate of photosynthesis. 

If Luke did not do it in a dark room, there will be an external 

source of light that would disrupt the test. 

Pond S, as it has more light units that the plant needs to 

photosynthesis, while if it was in Pond T, if would not 

photosynthesis as much as if the plant was in Pond S. 

The roots of the plant absorbed the blue-coloured water and 






